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Marking Scheme
ANSWERS MARKS REMARKS
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s M1
-7
9
Bl Al
= -2 3
Let the interior angle be x
Exteriorangte =75 ¥
x+1x=180 M1
+x =180
180 x 3
X =
4 Al
=135
Exterior = +x135 = 45° Bl Bl is tied to Al
3
n= 360 = 8sides
45 —
x+2y 3x-y M1
3 5
_ 5(x+2)-303x~y) M1
15
_Sx+10y—-9x+3y Al
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ANSWERS MARKS REMARKS
= 372,810
146.20
=£ 2550 Al
3
5. No of overtime hours = x
No. of normal hours =y
x+yv=2_81]
15x + 12y =1071 M1 for the formation of the
two equations
(x+y=81)4
(5x +4y=357) 1
5x +4y =357 M1 attempt to eliminate one
4x + 4y =324
x=33
y=81-33
y =48 Bl
4
6. 2x-1<7+x
x <8 B1
T+x<3x+2
-2x<-5
x>25 B1
V3,456, 7 Bl
3
7. Vol of the sphere
MI
=381.753
Mass = density x volume
8.9 x 381.753 MI
=3397.6017
T x 3 3%#Bgx 4.53 Al
3
8. M1 Numerator
M1 Denominator
Al
3
9.
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(2x - y)x-2y) A
(x—2y)x+2y) or Vi
_2x-y Ml
x+2y s .
Al or equivalent
3
10, M2
M,=-% M1
y+i =2
x-3 3
3y+1=-2x+6
3y=-2x+5
M1
277 + 3% =54 Al
3y 3y 3
37 4+ 37 =54
L. 5(33 )= 54
3% =27
33}* - 33
y=1
M
y 7,,6.0
2 2 2 2
5 ?
T —y+3=0
¥ 2y Al
FEE RN ’
12. 2 16 16
7Y 1 Ml
-3) =4
7 1
)-——-——.:+_
g 4 4
Arpa:olia.sgct@R y:—i+z M1
4 4 4 4
y=2 OR y=1%
Area of triangle MIl
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2= —6{} % %
Area of sg’ér%ent72.3l -191
22x360x7  =04m? Al
60x 22 4
13. D=42
S 00 22 o
360 7
=231m?
]. 7 .
=—x2.1°85in60
2
=1.91m°
Tan 40° =TB M1
50
TB—="56Tan46
=41.95m
Tan TMP =41.95 M1
200
=0.2098
ZTMP =11.85° Al
T 3
14.
M1
B~ "Som P 150m M
Bl
3
15. Mean =84
12
x -1 4 9
2—-y 6 12
Mede73 4 =9 Bl
Meadan9=7 3 8
x =6 2
- =175 Bl
2-yv+6=12 3
16. 2)y = 812
y=-4 .
BT actual construction of the
net
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Sot=25 Al
c) a=dv
dt
a=4t-3 Ml
a=(4x2)-3
=5 m/s? Al
155000 1009% = 22.1%
d) 700,000
Ml
Ml
Al
10
19. t=%hrs
d =30km
Ml
Al
b) 1) Distance = Ml
tive speed =60+ 15
2t =3t - 5)dt =75km/h
2
I%tive distange =30-75 Ml
2 3, =22.5km
e e
3.2 ]
elatlye time = .
23 3 53| 22 30 s
3 2 3 2
D:IS_tfggi d2meeting = M1
—im Al
%
ii) M1
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11:30 +48 12 : 00 + 158
30
Speedt: F8m Al 1218 pm
2
©) = 60km / hr Ml
= 1330 hr or 01.30 pm Al
1 10
15 XE =7.5km

20. Volume of hemisphere

MI
Al
22.5
b) 1) 75
MI
75+ (E X 15}
75
=12km
Slant height = 30 + 45 = 75 Al . 45
. 12 }2.00+(§x60)
i) Height of small conel1:30+ Ex 60
Height of whole cone
30
{=11:30+ [—1—5—) M1 for both heights
Volume of whole cone
M1
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Volume of small cone "3'“"”” :

= %x 3.142 x7.5x75%x7.5
Volume of frustum =.43%6.059-949.50

= 3446.55¢cm?
¢) Totadd@olunie = 883369 + 3446.55 + 1440
x T 4.5 =577024cm?
30 4+ x

21. a) 1)—9M-%a+ b
i) BF9hb + 3a
X =45
ii)AP=-a+"b

b) i) OX =0B +BX
=b+t(-b+%a) 7o s
=b-tb+%ta 45°-4.5
=(1-t)b+Yata44.77cm

i) OX =0A +AX
—a+k(a+2/5b9\/752 7.5%

=a-ka+?sk
— (l k) a+52/ kB 74 62€m

iii)(1-k)a+*skb=(1 - t:)cbgté/st.mz x7.5% x74.62
1-k= 1/4t

Pl 2 a3 agen

4k +t=4 1 s
(2k + 5t=5) 2 = X 3142 x4.57 x44.77
Ak +t=4
4k +10t=10 =949 50cm’
=6
t:2/3

4k +7%; =
4k =19/,
k ="/

c) AX XP=5:1

MARKS

M1

Al
M1
Al
10
Bl
Bl

Bl

Bl

Bl

Bl

Bl

Bl

Bl

Bl

REMARKS

attempt to solve for k and t

for the values of t and k
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10
22.
b) 1) RS=(11.6+0.1) x 10 B1
=116km=+1 B1
ii) Bearing of S from R =200°=1 Bt

NTIMA, NYAKI - MARKING SCHEME - 2016

(RK) FORM 4 - MATHEMATICS - 1



ANSWERS MARKS REMARKS
c) QS N =(10.4
+ A 0.1)
N x10
1\
R >
/
AA0KM
075°
T a > S
N
N
S
%4,
i 060°
< P >
46km
v
S
B1
= (104 £ 1)km ; B1
d) PR =7.6cm Bl
23.
a) /BCA=30° Bl
Angles is alternate segment are equal B1
b) ZADC = 65° Bl
Opposite angles in a cyclic quadrilateral add upto 180° B1
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¢) ZCOB = 70° Bl

Angle subtended by a chord / arc at the centre of a circle is

twice the angle subtended by the same chord / arc at the

circumference. B1
d) /DGA = 40° Bl

Angles subtended by equal chords or arc at the circumference

are equal B1
e) /BEA=85° B1

Interior angles in a triangle add upto 180. B1

10

24,
NTIMA, NYAKI - MARKING SCHEME - 2016 11 (RK) FORM 4 - MATHEMATICS - 1



6.1%20S02.0 |[e2 10 wo siadedisedasoyaal) mmm :IsIA siaded 1sed aal) aiow 10y





